6CHE—Y—h—RELV4chTE—F—h—RDI2CHIEICEET D ER

oY AV R—RE2FERUT.6CHE—Y —hR—RE XV 4chETE—49—Rh—K%[2C
AT A RFNEHTBIHEIF. AT ESEICLTLIEE VY,

Transmit address to slave

Start condition begins 0x14

Lo 0o o o 1 0 1 0 R'W=0 Transmitting data x6 Lo
o 1\ T /oo Bt

A7 A6 A5/ A4 \A3/ A2\ A1 A0 = D7 =

A\ A ACK=0 /o7){0s)(05)(04){3)(02)(01 (o0, ACk=0/|

Lo 7-bit address and R'W o

- -
scL ! =

X))

YA AVICkoTIF20usecT A LADBERIGEEHHDET,

12C7 kLR
OxOA (7bit) + R/W(1bit) = 0x14(8bit)

HIE/ISTOX—45

DO~D6 = E—7—ZXE—K (0% 7L —=F.1%~100%)

D7 = A (0=1FE& (E—4—/C7—0FF). 1=%#5(27L—%F))

¥DO~DBDE—Y—RAE—RHN0%DEFE. D7 T L —FHD/STA—=5K\NE
BOFRT,

*{ET —%%1:BCD

00010100(4/6CH MCB [2C address 0x14)
01100100(Motor1 100%1E#x) < 100% (0x64)
11100100 (Motor2 100%i#z)
00110010(Motor3 50%I1EER) <= 50%(0x32)
10110010(Motor3 50%i%#x)
00000000(Motors —%—/\J—0OFF) %
10000000(Motorb 27 L —=F) %

¥AchT—5—Hh— &lxMotorb/6lH D AN 6chTE—F —THR—
F—FT*— VJMEJJ—EE LTWBeo. T—FHDDRENHDET,



